SEARS TOWER
Background:  The Sears Tower was built in Chicago in the 1970’s.  It is currently known as the Willis Tower.  When the Sears Tower was completed in 1973 it was 110 stories or 1450 feet tall.  Each story measures approximately 13.18 feet.  The Sears Tower covers 1 city block.  1 city block measures 1/16 mile.  1 mile equals 5280 feet.

Task 1- Construct a scale model of the Sears Tower using linking cubes.  Use Figure 1 to help construct your tower.  For stability of your scale model it is recommended but not mandatory to use 1 linking cube for every 5 stories of your scale model.  (Note there will be times where you may have to round the number of stories to the nearest 5)

Task 2- Figure out the Volume of each Section of the Sears Tower. There are 4 Sections, A-A,    B-B, C-C, and D-D.
Use Figure 1 (see attached sheet) and the information in the background section above to help you. 

Remember that Volume=Length x Width x Height (Answers will be in cubic feet)

You will need to figure out the length of each part, the width of each part and the height of the section you are working on.  Don’t forget that to figure out the height you need to multiply the number of stories in that section by 13.18 feet/story.
Use Figure 1 to help you break the Tower into 4 Sections.  The 1st section A-A or the base of the tower is 50 stories, the 2nd section B-B is 16 stories, the 3rd section-C-C  is 24 stories and the 4th section D-D is 20 stories.  
Use Figure 1 to break each of the sections into parts.  Example: the 1st section A-A has 9 parts but the 4th section D-D only has 2 parts.
Helpful Hint: You will need to figure out the Volume of 1 part for each section and then multiply it by the number of parts for that section.  Example: for Section A-A, you will need to figure out the volume for 1 out of 9 parts and once you figure out the volume you will multiply your answer by 9 because there are 9 parts in Section A-A.

Task 3- Find the Total Volume of the Sears Tower by adding all 4 Sections up from Task 2.

Task 4- Figure out the square footage of office/retail space inside the Sears Tower.  What formula will you use?  Will you need to divide your sections differently?
